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- G Qan(ésriLL assignment problem— gag Sit
Areas )
I I I - Iv
A [ 42 35 28 21
Salesman B | 30 25 20 15
C| 3 25 20 15
- D 24 20 16 12
- Compare CPM and PERT.
CPM wpmid PERT @ui@.

At a telephone booth, suppose that the customers
arrive with an average time of 1.2 time units
between one arrival and the next. Service time pre
assumed to be 2.8 time units. Simulate the system
for 12 time units by assuming that the system

starts at £ = 0. What is the average waiting time

. per customer?
G QzrapeGuél  @wwgdd geulleumm

UMHDEESEEHES QLG e GUITIq SENSILITETT &6 6T

grnef eumens Coyb erg. 1.2 @b, Qg Csmar

Grrwreng 2.8 o@wraflssiuLg. 12 wefl Goy
Sidled g Semlien o (Heurss ¢ = 0 erens Q& reTs.

gaQeunm eumgsmsunerisefiar synefl  srsSmy

Criib eremmen?
Define Data Sheet. Write the connection code to
connect OLEDB provider.
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Define Frameset. How to split the table in HTML.
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PART C — (4 x 10 = 40 marks)
Answer any FOUR questions.
“All questions carry equal marks.

Use simplex method to solve the given LPP :
‘Maximize Z = 4xi +10x,

- subject to the constraints: 2x;+x,<50

2%, +5x, <100 -
2x,+3x,<90
%, 20, x,20.
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Z = 4x; +10x,
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